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Integrated Degree Course
Examlnatlon 2016-17

(Common for all Branches)
'SEMESTER_
MATHEMATICS-ITT

Ti‘me : Three Hours ,

Maximum Mafks 80

“DO not WI'lte anything on question paper except '
Roll Number otherw;lse it shall be deemed as an act

of indulging in use of unfair means and action shall

be ta.ken as per rules.”

(@) Attempt f1ve questions in all

(11) The Question Paper has four Umts Each umt
has two questlons

“:";“ (1i1) Attempt at least one 'questiaon from each Unit.

(iv) Answer should be to the pomt

(v) All questmns carry equal marke
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UNIT-I

1. é& Evaluate

wﬁ 5x+12 )
A 9 . ’
X“+5x+6

interval of .&mmmwmbnm being unity.
(b) From the given data, find f(70) :
x 40 60" 80" 100 199

Y250 810 470 540 590

Use Newton’s forward difference formula.

2. (a) Use Newton’s wmowSm& difference formula to

find f(2.5) - - e :

Yiowh Lol a4 18

, (b) Given the following pairs of values. of X; % e
: N P R ()
Ll e SR s ey 16

Interpolate the value of y at x = Ho

s )

SR PRl ke e e 5

5
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UNIT-11

3 (a) Apply Gausg's backward formul

_ a to find y at 1
X = 19, given {hyt }

X, 10 15 99 % 30

y o LT 239 390 420 5m

(b) For given data -
& 20 24 - 98 39 |
y . 2854 3162 3544 3992
Find y when x

= 25, asing Stirling’s formula.
4 (@) Use Béssel’s forniula, to find y(25), given :
2. = 4 28 32

v 4 3 35 40
(b) Find the value of f‘(x) at x = 0.04‘fr0‘m the
' 'followmg table : iy

001 002 003 004 005 0.6
01023 01047 01071 01096 0.1122 0.1148

Use the Gauss’s forward formula.

o U‘NIT‘-III

(a) Evaluate E Jcos0do by d1v1d1ng the mterval

into e1ght equal palts using Slmpsons 1/3 rule.
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’ o find the solutie.
d's metlmd to 1 ution .

dy ,
4 wp bl gy — i X W”',h X i pn
rential equation e )

(b) Apply Picar

the diffe

o to the- third order of approximatior P
9 upto the- thi n

—
—

y

dy = x% +y;y(0) = 1;h =0.02. Deter‘min“ ,

6. (a) Given
+(0.02) using the modified method of Euley'y.

Use Runge-Kutt_a method of fourth ’ordqr to fing
. | dv |
the numerical solution at x = 0.8 for EXX = \/(xTy); '

y(0.4) = 0.41; h = 0.2,
UNIT-IV

' . 9 " . 9 ‘ '
7. (a) Prove that L|>— t‘ =110g(s t4 ! vy
- AL L .

' = ey B L
(b) Evaluate L [,4 — J
; . s +s"+1) - -

« 8 -(a) - Use convolqtion theorem to ﬁnd e

' Lﬁl[ - S
-.(S+1)(S2+1) A | :
: (_b) | ,_Use L,ap_léce tl‘.ansfo.rmatio’n' ‘technique‘;.I-Itay;,s;)l;:e?

T e
o aon s S AR given that w(0) L 0 g0y L
e DedddE ol s e e S =%

e S

T
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